
Heterogeneously-catalyzed asymmetric C=C 

hydrogenation: origin of enantioselectivity in the 

proline-directed Pd/isophorone system. 

Alexander I. McIntosh, David J. Watson, Jonathan W. Burton and Richard M. Lambert*  

Department of Chemistry, University of Cambridge, Lensfield Road, Cambridge, CB2 1EW, UK 

e-mail: rml1@cam.ac.uk

RECEIVED DATE (to be automatically inserted after your manuscript is accepted if required 

according to the journal that you are submitting your paper to) 

Heterogeneously-catalyzed asymmetric C=C hydrogenation: origin of enantioselectivity in the proline-

directed Pd/isophorone system. 

Supporting Information 

1H NMR spectra were recorded on Bruker AC-200 (200 MHz), DPX-250 (250 MHz), WM-400 (400 

MHz), AM-400 (400 MHz), DRX-400 and DRX-500 (500 MHz) spectrometers.  Chemical shifts are 

quoted in ppm relative to tetramethylsilane (δ = 0 ppm) and referenced to the solvent residual.  For 

convenience, the following abbreviations are used; s - singlet, d - doublet, t - triplet, q - quartet, qn - 

quintet, m - multiplet, dd - doublet of doublets etc.  Coupling constants (J) are given in Hz.  Where 

useful, the FID was zero-filled (128 K) and sine-bell shifted (SSB = 30) prior to Fourier Transformation 

in order to provide baseline resolved multiplets and, as a result, easily identifiable and measurable 

coupling constants. Two dimensional (2D) spectra were recorded on a DRX-400 and a Bruker DRX-500 

1

 

mailto:rml1@cam.ac.uk


spectrometer fitted with gradient coils.  Double Quantum Filtered (DQF) and magnitude COSY spectra 

were typically acquired with 256 slices in F1 and 2048 points in F2 (acquisition time approximately 20 

min).  13C NMR spectra were recorded on Bruker AC-200 (50 MHz), DPX-250 (62.5 MHz), AM-400 

(100 MHz), WM-400 (100 MHz), DRX-400 (400 MHz), and WM-200 (50 MHz) spectrometers in the 

solvent indicated and with proton decoupling.  Chemical shifts are quoted relative to tetramethylsilane 

(δ = 0 ppm).  The attached proton tests (APT) was used to assign signals in particular cases.  Infrared 

spectra were recorded on a Perkin-Elmer 1600 FT IR spectrophotometer.  The sample was prepared as a 

thin liquid film.  Calibration was relative to polystyrene at 1603 cm-1.  Mass Spectra were carried out at 

the Cambridge University Chemical Laboratory.  FAB, EI and CI, low resolution and accurate mass, 

spectra were performed on a KRATOS MS-890 and on a Micromass Q-TOF instrument rotations were 

measured using a Perkin-Elmer 241 polarimeter, in a cell of 1 dm path length.  The concentration (c) is 

expressed in g/100 mL (equivalent to g/0.1 dm3).  Specific rotations denoted as , imply units of 

°dm

[ ]T
Dα

2g-1 (T = temp °C).  Analytical thin layer chromatography (TLC) was carried out on Merck pre-

coated 0.25 mm thick plates of Kieselgel 60 F254.  Preparative layer chromatography was carried out on 

1 mm thick plates (18 cm × 20 cm) of  Merck Kieselgel PF254.   

For a typical hydrogenation procedure see the main text 

Isolation of >98% ee (+)-TMCH, (S)-2 

The solvent was removed from the filtered reaction mixture in vacuo.  Ether was added and the 

precipitate filtered.  The mother liquors were concentrated in vacuo and purification by short-path 

distillation yielded pure (S)-2; [α]D
27 +20.2 (c 0.97, CHCl3); {lit.1 96% ee [α]D

23 +25.9 (c 1, CHCl3);  

lit.2 enantiomer 98% ee [α]D -24.5 (c 1.1, CHCl3); lit.3 enantiomer [α]D
27 -27.04 (c 0.9, CHCl3); the 

enantiomeric excess was determined to be >98% by chiral GC analysis. 

Purification of a τ = 72 h (one equivalent of H2) reaction mixture by flash chromatography 

(CHCl3:MeOH:H2O:AcOH, 180:60:6:10 → 60:30:10:3) gave 7:7’ as an inseparable 13:1 mixture of 

diastereomers.  The amino acids ent-7 and 7’ were separately synthesized by the diastereoselective 

2

 



hydrogenation of mixtures of enantiopure (S)-2 with either D- or L-proline.  The assignment of the 

relative and hence absolute stereochemistry of 7 was made according to the following argument:  

Hydrogention of a mixture of D-proline (R)-3 and (S)-2 gave a single amino acid diastereomer (>20:1).  

This amino acid (ent-7) was identical in all aspects (except having opposite sign of optical rotation, 

[α]D
22 +17.45 (c 0.51, MeOH) with the major diastereomer 7 isolated from the τ = 72 h reaction.  The 

diastereomer 7 must therefore have the (R)-configuration at the methyl-bearing stereocentre (i.e. kinetic 

resolution gives (S)-2 in solution by removal of (R)-2 by reductive amination with L-proline).  The 

remaining cyclohexyl stereocentre was assigned by 1H NMR NOESY experiment.  Key to this analysis 

is the lack of an nOe between 1’H and 5’H.  Furthermore 1H NMR NOESY analysis indicates that 7 

exists predominantly in a twist conformation.   

Assignment of the 1H NMR spectra were made using a 1H-1H COSY experiment.   

N CO2H1

1' 6'

5'
4'

2

34

5

3'

2'

7

H
N CO2H

H

7'  

Data for the major diastereomer 7.   

(2S)-1-[(1S, 5R) 3,3,5-trimethyl-cyclohexyl]-pyrrolidine-2-carboxylic acid 7 

Isolated as a white amorphous solid as a 5:1. mixture of diastereomers with 7’; [α]D
22 -24.3 (c 0.115, 

MeOH); 1H NMR (500 MHz, CD3OD) δ 4.00 (dd, J = 9.8, 3.4 Hz, 1H, 2-H), 3.76 (ddd, J = 11.2, 6.8, 

1.5 Hz, 1H, 5-H), 3.54-3.49 (m, 1H, 1’-H), 3.17 (dt, J = 6.4, 11.3 Hz, 1H, 5-H’), 2.31 (dddd, J = 13.1, 

11.3, 9.8, 6.8 Hz, 1H, 3-H), 2.21 (ddt, J = 13.1, 6.8, 3.4 Hz, 1H, 3-H’) 2.09-2.04 (m, 2H, 4-H, 5-H’), 

1.91-1.83 (m, 2H, 4-H’, 5’-H), 1.77 (ddd, J = 13.8, 7.4, 5.0 Hz, 1H, 6’-H), 1.66 (br d, J =  6.0 Hz, 2H, 

2’-H, 2’-H’), 1.57 (ddd, J = 13.8, 7.9, 4.6 Hz, 1H, 6’-H’), 1.46 (dd, J = 13.6, 4.5 Hz, 1H, 4’H), 1.12 (dd, 

J = 13.6, 8.0 Hz, 1H, 4’-H’), 1.08 (s, 3H, 3’-Me), 1.03 (s, 3H, 3’-Me’), 1.00 (d, J = 6.4 Hz, 3H, 5’-Me); 

13C NMR (125 MHz, CD3OD) δ 174.1 (s), 68.9 (d), 61.8 (d), 54.8 (t), 46.2 (t), 40.4 (t), 35.5 (t), 32.1 (t), 

3

 



31.1 (q), 31.0 (q), 30.8 (t), 26.8 (d), 25.1 (s), 21.9 (q) , IR (film) 3418, 2952, 2896, 1713, 1624 cm-1; MS 

(FAB) m/z (rel intensity) 383 [50, (M + H)+];  HRMS (ES) m/z 240.1955 (240.1964 calcd for 

C14H26NO2, MH). 

 

 

Meβ
Meα

N CO2H1

1'
6'
5'4'

2

34

5

3'
2'

H
HβHβ
HαHα

7'  

The amino acid 7’ was prepared by hydrogenation of a mixture of L-proline and (S)-TMCH and was 

isolated as the major component of a 7:1 mixture of inseparable diastereomers.  Assignment of the 1H 

NMR spectra were made using a 1H-1H COSY experiment 

(2S)-1-[(1R, 5S) 3,3,5-trimethyl-cyclohexyl]-pyrrolidine-2-carboxylic acid 7’ 

Isolated as an amorphous white solid; [α]D
22 -30.8 (c 0.72, MeOH); 1H NMR (500 MHz, CD3OD) 

δ 3.94 (dd, J = 9.8, 4.3 Hz, 1H, 2-H), 3.68 (ddd, J = 11.0, 6.7, 2.6 Hz, 1H, 5-H), 3.54 (tt, J = 11.7, 3.9, 

1H, 1’-H), 3.17 (dt, J = 6.6, 10.9 Hz, 1H, 5-H’), 2.33 (dtd, J = 13.1, 10.1, 7.0 Hz, 1H, 3-H), 219-2.13 

(m, 2H, 3-H’, 5’-H), 207-2.01, (m, 1H, 4-H), 1.90-1.80 (m, 2H, 4-H’, 6’-Hα), 1.74-1.68 (m, 2H, 6’-

H’α, 2’-Hβ), 1.43-1.38 (m, 2H, 2’-H’α, 4’-Hα), 1.27 (dd, J = 13.9, 4.8, Hz, 1H, 4’-H’β), 1.09 (d, J = 

7.4 Hz, 3H, 5’-Me), 1.04 (s, 3H, 3’-Meβ), 0.98 (s, 3H, 3’-Me’α); 13C NMR (125 MHz, CD3OD) δ 174.8 

(s), 68.0 (d), 60.1 (d), 53.7 (t), 44.6 (t), 41.5 (t), 34.8 (t), 33.8 (d), 32.5 (t), 30.8 (t), 28.4 (q), 24.8 (s), 

21.5 (q), 20.8 (q) , IR (film) 3418-2400 br, 2950, 1710, 1610 cm-1

The relative and hence absolute stereochemistry of 7’ was determined by 1H NMR NOESY 

experiment.  Key to this analysis was the observation of an nOe between 1’H and 5’Me and between 

1’H and 3’Meβ.  The NOESY experiment indicated 7’ exists predominantly in the chair conformation 

shown.   

4

 



Me

Me
Me

N

HO2C  

REFERENCES  

(1) Fernandez, F.; Perez, C. Heterocycles 1987, 26, 2411-2417. 
(2) Lipshutz, B. H.; Servesko, J. M.; Petersen, T. B.; Papa, P. P.; Lover, A. A. Org. Lett. 2004, 6, 1273-
1275. 
(3) Allinger, N. L.; Riew, C. K. J. Org. Chem. 1975, 40, 1316-1321. 
 

5

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


